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% 38 [B] B 2REERILE (ST) (1600m)
4T H B 2014 % 12 A4 31 H
Hj%i%*% TITVLORR 24E
AHE TE
B4 2000 7 700 59 400 200 5 100 75y
H A2 2014 42 12 4 28 H
H AR 5 4 Mo S | TR S T 4
1 F7~)L 2 | Rl | K9t 2% 11,375,000
1 IRV AT 47 b2 | WHEE | iR 2k 4,900,000
1 S EVEE o | MRFEZ | IR 275k 4,750,000
4 AT T == o2 | MO AR 2% 7,140,000
5 TA—ATTARX 2 |WH=E| KIH 2% 6,050,000
6 TALT T 2 | HBE | IR 2k 5,000,000
7 RHT AT oo | BARFE | IR 2% 4,730,000
8 S =vi% o | RMRUE| WG 2k 4,500,000
9 TIA XL 2 | KEFE | N 2% 4,225,000
10 H) oo | EEE | M | 26 4,000,000
11 PaEvh 2o s KR | 2 3,500,000
12 =y dNa 2 | FHRTE| Kt 25 3,420,000
13 A —IVRTT 2 | JERME | Kt 2k 3,320,000
14 aA Y )L L —R foo2 | JERE | )IIg 2k 3,310,000
15 T ITTY— o | HAE| IR | 2 3,154,000
16 HAT ) —=F o | EEE| KIF 2k 3,125,000
17 T I—A o | NHEBE | IR 2k 3,000,000
18 UV IT T — 2 | BEFE| KIF 25 2,875,000
18 ThrYa~T oo | ABRFE| KIH 25 2,875,000
20 TPV AN — 2 | RRH | G 25 2,800,000
20 N 2T IVAZA I Yo | NHBE | )Ig 2k 2,800,000
22 R AVES ¥ 2 HRE | Kt 2k 2,770,000
23 BV —=TY—F 2 | HPAEE | KOt 2k 2,500,000
23 V=N, 2 | FEGN | K 2k 2,500,000
25 TJ—%F o2 | R | ORI 2% 2,475,000
26 LR 2 | EAEE | KOt 2% 2,455,000
27 Fh=A 2 | BAE| KIF 2% 2,405,000
28 A JER 2 | BAE | KIF 27k 2,349,000
29 A4 —h AT o | EHAE| IR | 2% 2,255,000
30 INTY—I2% 2 | REE | WG 25 2,250,000
31 IR A 2 | BAE| KIF 5% 2,100,000
32 BF )TV 2 | REE | G 2% 2,000,000
32 T — 2 | H2B | IR 2k 2,000,000
34 HER oo | WEAKE| KI 25 1,975,000
35 T o | gaRFE | I | 26 1,882,000
36 T IANT = A 2 | KRB KO 2% 1,660,000
37 ~AT IV 2 | R ORI 2k 1,380,000
38 IN—RTZJLEREA 2 | ANAE D N 2% 1,110,000
39 FARTL Y )L 2 | MEAREE | G 2k 945,000
40 T I I a2t — 2 | MRE|] KO 25 875,000
41 TATV—=I T o2 | EREE | KOF 2% 615,000
42 EEE ¥ 2 PRI KIF 275k 500,000
43 XF U NAR—IN— o2 | AR KO 27k 490,000
44 N =T T — 2 | HBEFN K 275k 375,000
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